From V to F to KV following [AT].
A[VI[1] // do[{x, ¥y} - {y, x}];
logF // EulerE // adSeries [ eﬂdd.1 , logF, tb]
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8s[2, 1] =&s[3, 1] =&s[3, 2] = 0; Solving for an associator ®@.
®s[3, 1, 2] =1/24; & =DKS[3, &s];
SeriesSolvel[&,

(§a[3,2,1] = -3) A

(8 % $0[1,23,4] 44 902,3,4] = $0[12,3,4] 44 §a[1,2,34])];

& (» Can raise degree to 10 x)
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The “buckle” Zg, from O.
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R = DKS[t[1l, 2]/2];

ZB = (_§)0[13,2,4] *% §a[1,3,2] *% Ro[2,3] *% (_§)0[1,2,3] *%
gol12,3,4] ;

Zp@ {4}
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V from Zp, following [AET, BND].
(E1[2s // oMap[l, 2, 3, 4], CWS[O]1] // T // tn* // tn3 //
hn? // hn* // ho[{3} » {2}] // to[{2, 4} » {1, 2}])I
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The Borromean tangle.
Rs[a_, b_] := Es[(a—>LS[0], b-» LS[LWea]), CWS[O0]];

iRs[a_, b_] := Es[(a—>LS[0], b-» -LS[LWe@a]), CWS[0]];
€= iRs[r, 6] Rs[2, 4] iRs[g, 9] Rs[5, 7] iRs[b, 3] Rs[8, 1];

b

Do[f = £ // dm[z, k, x], {k, 1, 3}]; L XN
Do[8 = & // dm[g, k, g], {k, 4, 6}]; 2

Do[f = £ // dm[b, k, b], {(k, 7, 9}]1; /\J
{€M1]1.@{5}, &M2]@{5}} // Print —
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Warning. Fidgety!

Video and more at http://www.math.toronto.edu/~drorbn/Talks/LesDiablerets-1508/
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